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ECE 2300 - Circuit Analysis — Spring 2001, Section # 11136
Quiz #7

Friday, April 27, 2001

DO NOT OPEN THIS QUIZ BOOKLET UNTIL INSTRUCTED TO DO SO

This quiz has four pages, including. this cover page. If you are missing any
page, raise your hand. To complete the quiz you have 35 minutes.

Notes:

1.
2.

3.

0 >

Be sure that your name, ID number and the signature appear above.

The quiz is closed books and notes!!!

You may use any calculator you choose.

Along with solving the problem, to receive full credit you must:

a) Show all work needed for solution;

b) Clearly indicate your answer (for example, by enclosing it in a box);

¢) Define all variables and parameters, and label them on the circuit diagram;

d) ‘Show all units explicitly, in intermediate numerical results as well as in final solutions;
€) Use the proper notations for all quantities.

Do not use red ink.

Keep in mind that most of the credit for the problem will be given for showing the correct
methods or equations.

This quiz has one problem, and the total number of points is 100.
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ECE 2300 ~ Circuit Analysis — Spring 2001, Section # 11136, Quiz # 7
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For the steady-state operation of the circuit shown, calculate the value of the complex, apparent,
average, and reactive power delivered to the circuit by the voltage source, and the value of the
corresponding power factor.

Ri= 400kl  L1=002IMl  R3=4o0lal C=O'EP'FI
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